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Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

A simple pendulum is being used to

determine the value of gravitational

acceleration g ata certain place. The length

of the pendulum is 25.0 cm and a stop

watch with 1 s resolution measures the ime
taken for 40 oscillations to be 50 s. The

accuracy n g 15 :
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Options:
1. 3.40%

7 2.40%
3 4.40%

4. 540%

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

TE HIYEY @ 1 T e = W
TEETHY & RV @] g T HA A FH &
fad fen s 21 afe «es #1 o
25.0 cm 81 3R 39 40 2o F e T 1 s
T8 (resolution) ATET =ZiqaT= H =91 7141
Wmsﬁﬁfgﬁ?mﬁqﬁﬂ@m(accumcﬂ

'l :
Options:
1. 3.40%
2 2.40%
3. 440%
4_ 5.40%

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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2Als5H R I3eM U e Al s
s MIEL dldsl Gl Rl 2ud 8. 2
dldsl detd 25.0 cm © 2 1s [E6lE 41l
2elq <l 40 Eld-L W2 50 s sr2dl WA e 9.

-

g Al WAL Al &.

Options:
1. 3.40%

2 2.40%
3 440%

4. 5.40%

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A particle moves such that its position

— o . s .
vector r (t) =coswti + sinwt ] wherew is

a constant and tis time. Then which of the

following statements is true for the velocity

?(’t} and acceleration ;(t} of the particle :

Options:

1 o and a bothare parallel to ¥

r and ; both are perpendicular to

Hl-
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—

. . — o
v is perpendicular to r and a is
3 directed towards the origin

—

v is perpendicular to r and a is

4 directed away from the origin

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T& JATIHE FU F1 9T t ¥ fryfq

T() ~ coswt i A si_nmljr}' g GHI &1 Sl
g T W TF fomid &) T H w0 F a9
(Y TMGHF ©W a(p) KA FFAA T
FH W FIA I &7

Options:

— — o me
d

1@ S & 7 % TEHAE
5 ©#Ra i # 1 F orEad B |

T EEEAGE r 6 ad 5 Wi fawn g
5. Fg =R E

T TEEdE r Al g i few ga
4 AT E R

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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215 501 2ol dd 2ld 52 5 5 del 22wt
T(t)=coswti +sinwt] 8. sl o 3
D05 2t B W B, dl 5L L 7 (1)

A UL (1) e AR 54 Fan Wy
57

Options:

1.

—— - =L " -

T U C g TR )

T oA Qo T oAda 8.

b

Aol 89 2 3 -l (B3 Gom

v W or o Ade ) a5 Al G G
(G5 @l 52 azs 8.

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A particle of mass m is dropped from a
height h above the ground. At the same
time another particle of the same mass is

thrown vertically upwards from the

ground with a speed of .*Egh . If they

collide head-on completely inelastically,

the time taken for the combined mass to

h

&

reach the ground, in units of is :

Options:

gcollegeduniag



[

'
9 \2
3
3. V4
M
4. \2

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

m EFHA F U F0 H 900 9 h 9% °
B2 W1 & | IH THE T GHA 549 & UH
FHU H TTA H T S H S H AR
J2gh i & e o s ¥ a3 &
HAMA-HA (head-on) Ti:Ui?l: AT T A

== = = "\.. :h' [a) r =
A 2 1 T2 gU I I \g =1 SIS O

TU YR 9% g5 H o arel 999 26T

Options:
1
1. 2
3
2. V2
3
3. V4
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Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

srdl 2l h orzdl Gug w2 #l m s ARIEAL 215
S0 SISl 2Ud 8. 22dl o gL lsa

soi it o wdlorall wedll 2gh wveedl ol
Geellzauml Guadl dzg Sssudl 2uel 8. ed d=il
AL wlell 22smue dyel 2e2eams ¢ dl
dysel g0 A ol HEll Al dpLdl W,

R i
& Al HEHHL, 8.

Options:
1

1*2

Ll b2
[ ] L]
e | b | GO

i
L]
ra| =

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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As shown in fig. when a spherical cavity
(centred at O) of radius 1 is cut out of a
uniform sphere of radius R (centred at C),
the centre of mass of remaining (shaded)
part of sphere is at G, i.e on the surface of
the cavity. R can be determined by the
equation :

Options:

1. (RZ+R-1) (2—-R)=1

9 (R2-R+1) (2-R)=1

3. (R*+R+1) (2-R)=1

4 (R2-R-1)(2-R)=1

Question Number : 4 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

femar T FEar 914 R 5 & 0% UHaEE
T H (T FMHFECWE) 1 =+ 1%
& (cavity) Wﬁﬁﬁ%(ﬂ%ﬂ@?ﬁﬂ
wE) W Fd g e (Trfed) w1 2 E
% G fag (= fo few 91 Ame W 7) 7
TH ¥ R &1 9F 4 | ° FE 9 gHE 5
= T s AFa €2

Options:
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1. (R?+R-1)(2-R)=1
2 (R*=R+1)(2-R)=1
3 (R*+R+1)(2-R)=1

4. (R—R-1)(2-R)=1

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

s
EAT

sedl R Fsetsinl 215 [HaBid slou (s 5
C 2L 65) wiEl 1 Bsauswn =15 2lousi
oplle (519]) (87 g O 202101 8) A 2uglsi
ol MAHISL STYE™L 2UeL 8 o4 UL eusl
Al MPL (2sEld 524) 4 g 5 G
AP B, @ied 5, ouild (s9]) Al wwel w 8.
R w{lszerl dld wol 2.

Options:

1. (R2+R-1)(2-R)=1

7 (R?-R+1) (2-R)=1

3 (R2+R+1) (2-R)=1
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4. (RR-R-1)(2-R)=1

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A uniform sphere of mass 500 g rolls
without slipping on a plane horizontal
surface with its centre moving at a speed
of 5.00 cm/s. Its kinetic energy is:

Options:

1. 6:25x10 41

2 113x1073]
3. 875x1074]

4. 875x1073]

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

500 g =41 =1 Uah UHHHIA el fo1 frae
TU UF Afae FHAE Ga8 W el g =T
T % (rolls without slipping) 791 55 Zs4HH
%% I M 5.00 cms ~ ! F1 7Tl T ifas e
T

Options:

1. 6.25x1074]

2 11310 37

3. 875x1074]
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4. 875%1073]

Question Number : 5 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
500 g el 2l [HuBia sinid dd beg
5.00 cms ! a5yl 2lld 53 2=l {ld 25 HHaa
A Eldsr 1wiZl w2 w35 Adl d dla et
el 6. ardl 2dAGled B,
Options:
1. 6.25x1074]

7 113x1073]

3 875x1074]

4. 875%1073]

Question Number : 6 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

M
e [
R
——————————————— 5m
______________ &

Two liquids of densities p, and p,(p, =2p,)
are filled up behind a square wall of side
10 m as shownin figure. Each liquid has a
heightof5 m. The ratio of the forces due to
these liquids exerted on upper part MN to
that at the lower part NO is (Assume that

the liquids are not mixing) :
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Options:

1. 2/3

3. 1/3

4, 1/4

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

M
_ -7 |5m
— N
——————————————— 5m
""""""" o)

ﬁﬁmpl HEIIPE(;b:pr}?WE‘Tﬁ 10m
oI T TF FNER GER F 99 9 70 E
(fead) | TF A FI TR 5me| TIEA
=l GRT EER % ST SR MN 791 et |m
NO T & 91e] Sl 1 ST91d 2 (I8 JH

o 4 79 fafge & @0 ¥)
Options:

1. 23

2. A2

3_ 1/3
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4. 1/4

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

M
__Z7Z”-”"7] |5m
—— N
——————————————— 5m
______________ 3

215l eAcdienl WL 10 m el 204l
WAL MPLp, 24 p, (py =2p, ) Brtcll SRIEAL
ol nedl cral 2 8. &2 uedl-l G
5m 8. Uelldl A Gyl ool MN 21 ALzl
1oL NO W2 AldLell vl 2jelixi

5. (=g Wy weudl=il zisollstui s dl)

Options:

1. 2/3

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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A Carnotengine having an efficiency of ﬁ

is being used as a refrigerator. If the work
done on the refrigerator is 10 J, the amount
of heat absorbed from the reservoir at lower

lemperature 15

Options:

1. 100]

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wﬁﬁ#ﬂ“ﬂﬁl’{efﬁci&ncy} % 73R
30 U IReie & ®9 § Y40 § @& 91 @
2| Afe YfFsie ) ffa o aen &1 10] 3
@ = el auFvs 9 SAF9id S S
AT o1 T HH @ ;

Options:

1. 100]

2.
3 M

4. 1
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Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sl el st —— i ool B, A
glor dils Gualpl i &, s glor W uq s
107 @M ol Al A srel ezl
sl Gl se2adl 8.
Options:

1. 100]

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Consider a mixture of n moles of helium
gas and 2n moles of oxygen gas (molecules

taken to be rigid) as an ideal gas. Its
CI,/CV value will be :

Options:
1. 67/45

9 23/15
3. 19/13

4 40/27

gcollegedunias



Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

FIfeTaH 719 % n Hieq A1 ST 79 (9%
HAYS F1 € AF) F 2n Ao H FHI0 F
A=Y T8 7 o 59 fAam & fad Cp/Cy
HF!?TTH:

Options:
1. 67/45

2 23/15

3. 19/13

4. 20/27

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

n W GHddl He i 24 2n 44 G3iscdl

e ARy (202404 28 Hl5 dl) - Be

2letlay oZls dl. ddl Cp/Cy A Yt
il

Options:
1. 67/45

7 23/15

3. 19/13
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4. 40/27

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A transverse wave travels on a taut steel
wire with a velocity of v when tension in it
is 2.06 x10* N. When the tension is
changed to T, the velocity changed to v/2.
The value of T is close to :

Options:

1. 250 10* N

9 515x10°N

3 305x10*N

4. 102x10°N

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

W9 UF a4 gU =Id & qrf H a9
2.06x 10* N 81 91 58 T <o arell UF 995
T F1 T 0 B Afe T F HA geewT T
+ fem 9 @ T F A FEEdw o/2 &
Sl 21 T &1 |F e § 9 frass fgeaq 27
Options:

1. 250x10*N

2 515%10°N

gcollegeduniag



3. 305x10'N

4. 102x10°N

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sedl vl 2Ed diRe deud 2,06 x 104 N
& cul iRl e w2 deRid d3uHlL el 8.
sl AU ASElA T 21 8 4R el L eAEaH
0/2 AL S, T 4 4 Al %95 B,
Options:
1. 250x10*N

9 515x10°N
3. 305x10*N

4, 102x10°N

Question Number : 10 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

Consider two charged metallic spheres
ST and 52 of radii RI and sz respectively.
The electric fields E; (on 5;) and E, (on S,)
on their surfaces are such that
E;/E;=R4/Ro. Then the ratio
Vy(on 5;)/V5(on S,) of the electrostatic

potentials on each sphere is :

Options:
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1. Ri/Ry

2. (RI/RQ}E
[ ~
4 (Re/Ry

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

g ¥ A g A M S, SR S, o
ﬁm&'m: R.l ﬁ(ﬂz%mﬁlﬁ%lm
TAH Hag W fa=a &5 E, (S, W) a0
E, (S, W) WIFE/E=R/R, AR
e Fegd deear V, (S, R) 91V, (S, M) F
ST V,/ V, B

Options:

P

2 Ry/Ry)?
'[&ﬁ

3. \Rz)

4 (Ry/Ry)

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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R, 21 R, Blsetl aedl o loveuld gt
ol S; @i S, dl duedl Wwdlpil S weq
[t E; 241 S, W 83 E, »iell dd & %
sefl E;/E,=R;/R, 4L dl &5 oL Y-l
Fad [Byd ERElauHHAl el v, (S,4w)/

=,

V5(S,%r) .

Options:
1. R/Ry

2‘ (RTXRE}E

4 Re/Ry)

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A capacitor is made of two square plates
each of side ‘a’ making a very small angle
a between them, as shown in figure. The
capacitance will be close o :

1L';r‘]
e
T!E.E.:.__._._.______j_{:f__i_ _______ N
% ;
*+ a }-VZ
Options:
€08 (1 ?rﬂaw
1. ¢ 2d )
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2
I
2
ﬂ{“
3. d
Epda (1
4 d A\

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

UF YIS 2 R =2 (AFT axa) °
T ¥ W ¥ A U g 9 w0 §
w1 T fo o fommn 0 21 =9 guifts =i

od |
2d J

foega nfian =1 § 5 foraer fepeam @it 2
;)
4 = e R :'-_':.‘_i_ ....... i
|
di i
- a >V,
Options:
coa (1 E]
"| ] d 2d
E{}r.:l ‘."'1 [‘{_a\I
2_ d |\ 2d
ca” [1 | E]
3. d \ d
Fﬂaz (1 ﬂ]
\ 4d
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Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2l (AU Cdledl WSl 245 HuRs o AlRY
dsdlil gL viHd B, sl 825 Gy 21 ‘@’ ©.
2l dsdl@il 922 dndl W AL Yel a ©.

YR s (capacitance) _ Al A5
gl
i S
e ey |
.1_‘:!:—.3__.__ ........... ..'_u'.l_ ....... )
d; i
Vi i
- a r vz
Options:

2 .
3 il (1 %ﬁw
1 i G 8 2d )

ol
\ 2d

F{}'ﬂz (1 E‘iﬂ)

4‘ d ', Ex’

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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A very long wire ABDMNDC is shown in
figure carrying current I. AB and BC parts
are straight, long and at right angle.
At D wire forms a circular turn DMND of
radius R. AB, BC parts are tangential to
circular turn at N and D. Magnetic field at

the centre of circle is :

M
/.?\

I\“*-- _,-//IH._
Bh B * T

Z

Options:
LLDI

1. 2R (T | %J

oy
S

in A
2 27R

.pﬂl
3 2R

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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U o= a ABDMNDC o=t 3 famarn wn &
AR 5 fagm s [ 98 W §1 sH AR+ AB
#R BC 9 HiY R U TEL W THEm
T ¥ 1 D W R J9d 2U R B 1 v 9w
DMND =11 991 91 F AB 3 BC 9T 39
99 W HIM: N 991 D T 2991 T = 2 |
59 90 H 99 F FR T FEHE 8 F 7H
e

Options:

ol {7 2]
2 2nR J2 )
sl
3 2R
4 % (m+ 1)

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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[ Mol H2ddl Wol divll Ak ABDMNDC
wilg[dHi £2Ude 8. AB @i BC sl e, died
24 2isoflaad s2VRILS. D 20010 diR R Bisredl
gl dqeusk DMND i =0l . AB @i
BC 1 @il 21454 N 24 D 24Pl ¥ yeist
8. R0l by 210 sl s

8.
M
-
N( o)
o i
Bop "¢
i
A
Options:
e, ] "t SO
1 2R ["T 72

ol
3 2R

L LA
4‘ 1

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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A particle of mass m and charge q is
released from rest in a uniform electric field.
If there is no other force on the particle, the
dependence of its speed v on the distance x
travelled by it is correctly given by (graphs

are schematic and not drawn to scale)

Options:

v o

() /

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

m ESIHM % U AT &0, 59 7 169 g
&, 1 UFHEEH fagd & # fer sEen 3 9=
W21 AfE 59 R IS IR = T o W E
SHFI A ¢ G91 THH GRI Fell A W x A
Ty 9 | 9 569 U1F 57 el fohen s
&7 (T Hehere §)

Options:
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v //
//f
Te ! X
i
(i) f //
_,--""-f
2, X
T ; /
II.-"
3. 4 X

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

m £UL 24 q lorMiz GRiedl 25 591 ddl B2
sepaiEll Hufid Byd sl ol =g
5. of drll M 58 o A Al i, dl el
orSU o 2 Bl s1UA 2R x Al Wl 2uEw

9. (2udw 2 2is gld 8 o
WY sHHiAl)

Options:
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Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

L R

LT AT A A Fy
L PAVAYAY,

| 1
i1 :

As shown in the figure, a battery of emf ¢
is connected to an inductor L and resistance
R in series. The switch is closed at t=0.
Thetotal charge that flows from the battery,
between t=0 and t=t_ (t_ is the time

constant of the circuit) is :

Options:
el
1 eR?

el
2 el?
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Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I R
000 AAAAA
I , g _‘
2 5

e ER faeE-a=s 5 ¢ H UF 924
FHAS AU H SIS o7 g U9 L a9 Ay
RATRI T & A fEa S am@t=0 W
== X fom 9= A =0 W t=t_(t_9RI"
1 799 feri® 8) F 9= 920 9 981 Tt

HEW H A T ;
Options:
2
1, &
eR
2 el 2
el

Question Number : 14 Question Type: MCQ Option Shuffling : Yes gcollegeduniaé
Correct Marks: 4 Wrong Marks: 1 TS s e S v Pt n



L R

OO0 AN
|7 - i

S

gess2n Lot 2ot R A 2ag(dHl saedl yoret
e emf Gedl Hedl ob Aol sdsausl 2ud ©,
t=0 21 501 8 ML 249 O, t=0 24 t=t,
(t, 2wl A s ©) w2 veiluial

by S

MR Al 54 flsreuz &.

Options:
eL
1 eR2

e}
2 el 2

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A plane electromagnetic wave of
frequency 25 GHz is propagating in
vacuum along the z-direction. At a
particular point in space and time, the
magnetic field is given by

—

B =5x%x10"% j T. The corresponding

electric field E is (speed of light
c=3x10ms 1)

Options:
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1 15i V/m
9 —15i V/m
9 166x1071° i V/m

4 —166x10 16 V/m

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 GHz #1919 #i U& A9qa f9ga-g=sd
a0 frata ¥ z- fewn ® == @ 31 3l fw
U THY T U T 9 T T S

B =5x10"% j T @rdr=el w39 v faem
G E B : ( U S Mfdc=3x108ms 1)
Options:

1 15 V/m
> - 15i V/m
9 166x107% i V/m

4 1.66 x 10716 V/m

Question Number : 15 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1 gcollegeduniag



25GHz 24dlr srisidl #3dd [Bgrziasly oo
aledleslal Hl z- [Fausl Wy 8, wisiHl dlsy
Cirgai  2d wud,  Yousla &

- A i i 5
B=5x100 jT 2a%a &. dd 2uilis

[yd &2 E 5. ( usrdl 25y
c=3x108 ms—1)

Options:

1 15i V/m
e
9 — 151 V/m
3 166 X107 67 V/m

166 x 107§ V/m
4

Question Number : 16 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
An object is gradually moving away from
the focal point of a concave mirror along
the axis of the mirror. The graphical
representation of the magnitude of linear
magnification (m) versus distance of the
object from the mirror (x) is correctly given
by
(Graphs are drawn schematically and are

not to scale)

Options:
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A
f2f
1.
mﬂl
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Faor
2.
m
M I-.
Pposiie
I =X
f2f
3
'\
B S
> x
f2f
4,

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U 35 UF =q 597 F THA THF AYG T
o1 U S9F BT § -+t 9 w1 @ ¥
T S A A A A FA M AE I
WA SEHA (m) F AF W SHE 90 g
T (x) F WA IWA L | (UTF HHAHF &)

Options:
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m
1+ 7/
ey
f2f
1.
I']"lﬂl
S
——>X
f2f
2.
m
M|
1 )
I =X
f2f
3
N
4
Ly
f2f
4,

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Pl 2AEAL A MHIAR @15 didd dHl
Ale{l (g (focal point) @l ll3-<lH 52 ad
srcllHl 2Uel 85, 2ulld (2l ulbauella) Heqelld
Ui (m) [ERed wiElel dad »idk (x) -l A=l

e

| 8.
(2 2L 2l 2ougld B o HwusHl -eil)
Options:
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f2f
2.
m
Ao
y
———>X
f2f
3.
m
M
& S
T

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

In a double-slit experiment, at a certain

point on the screen the path difference

1
between the two interfering waves is E th

of a wavelength. The ratio of the intensity
of light at that point to that at the centre of
a bright fringe is :

Options:
gcollegeduniaé



1. 0.853

3. 0.672

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

TF -5l v 4 98 W UF =H W a
a0 FLA Tl T HT GATAL STF

: 1 X
Frm%ﬂfmrg T W9 TH M W OAE
Tl =1 Ueh IHF el 9l o == H JahT9 &l

s & T 20
Options:

1. 0.853

2 0.760

3. 0672

4. 0.568

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegeduniaé



Ll SOAH [RE2AL MR, USEL URAL S 21553,
(g @1 sl »iqeEdl (interfering)

G - 1
o @l S22 Yy Asler duddl ddadend- e

qPLAL 8, 2 (G 2 e usilid At
AL 1520 AL clsietiAl 21z 8.

Options:
1. 0.853

7 0.760
3 0.672

4. 0.568

Question Number : 18 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
An electron (mass m) with initial velocity

— M oM,

v =vgt +t7vg] is in an electric field

E _ EG.E o A is initial de-Broglie
wavelength of electron, its de-Broglie wave
length at time t is given by :

Options:
Ao

] | 2E22

gcollegeduniag



Ag
| e?E2t2

7 0
2 \/ 2m“oy

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U THE A (FEE m) 1 IRTHE AT

v =19i +vpj & AN FT UH faga &=

—

E = Egk § % A% goraga &1 Si-sref
T T AR T A B A T e

THEH] T 2
Options:
Ay
[ e

1
..I \( mzz:{%

gcollegeduniaé



Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

15 dasl (Bam) [y g § — g f

WEs oL v =0pi +vp ) HE KA B, s
Ay @ desglel wElGls Sl-sliodl ciadond ¢
al s t & d-dl sl-aledl dZadend

F‘E.‘J

Options:

gcollegedunias



Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In the given circuit, value of Y is :

Options:

1. @

L

3 toggles between 0 and 1

4 will not execute

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

fea W ufgg § Y FIAA 2

Options: gcollegeduniaé



3. 0 3R 149 H gea-=ed

4. ay it @ e

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

yhuaHl Y o e e.

[‘H" . [ ™.
- P :
] L P
K_:i_q
:D—lY
0
—— )
Options:
1. 0
2.1

3.0 il 1 Al 423 Hdd HEAL 52 8.

4 g siezd 291 dl

Question Number : 20 Question Type: MCQ Option Shuffling: Yes

gcollegeduniaé



Correct Marks: 4 WrongMarks: 1
A galvanometer having a coil resistance
100 €2 gives a full scale deflection when a
current of 1 mA is passed through it. What
is the value of the resistance which can
convert this galvanometer into a voltmeter
giving full scale deflection for a potential
difference of 10 V ?

Options:

1. 89k0

2 9.9 k()

3 7.9k0

4. 10 kO

Question Number : 20 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

U e Amdt ® SEet = g 100 Q @

AN TEH T 1 mA fRE T R I @ e

Y faerfya &1 < 1 9fE 59 U U Seewrd
T Fged 8 o 10 V fayasm & |® W
fasfoa &1 99 1 59 W o 91 9l 9y
1 99 &

Options:

1. 89kQ
2 9.9 k)
3. 7.9k0

gcollegeduniag



4. 10 k0

Question Number : 20 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

100 © 28l (core) Al 2191 4sddl »is
eaAllzz Higl ek 1T mA HAls WHIR s3el
A B ol ddl Yol ¥e 2ed wa B,
el lzaaial 10 V ellsy G2l AL dsied e
yel 25d 2iedd 20U dg diee¥ley v-same
o33l Rl Yo sed eal 7

Options:

1. 8.9k0

2 9.9 k()

3. 7.9k0

4. 10 kQ

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

A ball is dropped from the top of a 100 m

1
high tower on a planet. In the last E 5

before hitting the ground, it covers a
distance of 19 m. Acceleration due to
gravity (in ms 2) near the surface on that
planet is

e

gcollegedunias



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O

s U2 T2 100 {2t 34 U T & 50 H UH
e R BT TAE | A T ZHTH T2l +

1 = = ™ L o al
s HATTE 19 m 1 T T FTA 21 THIE

T TEETHYY F R =L ] HA (ms 2 H)

3 |

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Vs Ve WS U2 2AEA 100 m Gl 21l
212 el 2is guud oMl 2ud 8. sl

. k] _— . -
w5l Yl 58 Yl =l 19 m @i 504 9.

gl Wl Aws 3eaudat (ms 2 ui)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gcollegeduniaé



An asteroid is moving directly towards the
centre of the earth. When at a distance of
10 R (R is the radius of the earth) from the
earths centre, it has a speed of 12 km/s.
Neglecting the effect of earths atmosphere,
what will be the speed of the asteroid when
it hits the surface of the earth (escape
velocity from the earthis 11.2km/ s) ? Give
your answer to the nearest integer in

kilometer/s

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

16to 16

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: O

TF HEUE (asteroid) 9= F F= H 10R (R
gedt 1 e ) o0 W € 3% Yedt % F &
#AR 12 km/s TG T 31 W@ €1 AG gt
e T 1 9 11.2 kms ! A gl F
AR & G9E FH T HAG TU 5H HEUR
Tl geA Tl Tae 9 2 T T ot ari 2
(39 I kms — ! F Fpeaq quiw § &)
E

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

16to 16

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: O

&g U¢ (asteroid) Yeelldl 5w 25 2l 52 8.
yeefldl 52l 24 s4R TOR s/2dl 2id2 & (R 21
yeefl ol Flodl 8) 4E dedl 264 12km/s .
sedly 2 yeelll gl el © cur ggue -l
#su szl gl] il el sdierel Al wirizd
el (yoelldl [ssuel (escape) 4ol
11.2 kms ! &) auiEl seenet saialez/ 4
Al A5 YellsHl 2l

Response Type: Numeric
Evaluation Required For SA: Yes

gcollegedunias



Show Word Count: Yes
Answers Type: Range
Possible Answers:

16to 16

Question Number : 23 Question Type: SA
Correct Marks: 4 Wrong Marks: O

Three containers C,, C, and C; have water
at different temperatures. The table below
shows the final temperature T when
different amounts of water (given in liters)
are taken from each container and mixed

(assume no loss of heat during the process)

= €, €, T
1] 21 — 60°C
2 11 2 30°C
2 - 11 60°C
1] 11 11 1

The value of 8 (in °C to the nearest integer)

15

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

50to0 50

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gcollegeduniaé



C,, C, T C, T W& (Containers) & o
- aTTeE W O T s g e
Al H AT A | 9 ol Har
1 € o 51 fage = sifag agE T &1 9
&1 U H fod T uE F° e (e H) @R
AIHE T 1 9 A9 aifer | fear g 2
(7 7 T fafga == =1 9fern |5 3o =1
2T &l 4 §)

e &, < T
11 21 = 60°C
% 1 21 30°C
2 s 11 60°C
11 1 11 o

0% AM (°C W) & TAwezad qyui® 2
|
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
50 to 50

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

oEL-5(EL MUl 28 WAl Cp, C, 21 Gy il
el ez 8. sl syEL-syEL MHIELHE Evs el
el (dlevl) deumi =ud 8 »id dd slosE
wU1e 85 iz 2l driA Al 2 oeul 2utd
6. (@ig drldl 5 ula evraq God-l cuy udl
2l

ol & C, T

11 21 - 60°C
- 1 21 30°C
2] - 11 60°C
11 1 11 0
B« e (Amsel yellsi °C «i)

o.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

50to 50

gcollegeduniaé



Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: O

The series combination of two batteries,
both of the same emf 10 V, but different
internal resistance of 20  and 5 (), is
connected to the parallel combination of
two resistors 30 {} and R (). The voltage
difference across the battery of internal
resistance 20 (1 is zero, the value of
R (in £2) is

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
30to0 30

Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

FHG A0 H SIS 8% 21 A2l 1 UIed T
(parallel connection) H E_I)T‘%’ 3 Yiadee arl
T S ™7 S 92 # g 9es 9w
10 V & 97 39%1 sriafis afatigsan
200 S50 R F A 30 0 AXRO
&1 T = # AfE 20 O SAafE gy aelt
I F 2fiell 1 favyar = A AR (Q )
FEAE |

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
30to 30

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

10V %3 emf Wd 20 Q 2445 O sfEl-5(EL
wictfs wiria duadl o sesleil ([Egasil)
gl 2idlerd A 30 O A R Q AL o 2{eRIE-L
HHIACR Hlor WAL eASHML UL 9. o4 20
wldlks =azia qziedl dedld wuia
llorfRlAAL dstsr 2 €l dl, R -+ Yot

-

(€ L) £9.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

gcollegeduniag



Possible Answers:
30to0 30

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The first member of the Balmer series of
hydrogen atom has a wavelength of
6561 A. The wavelength of the second

member of the Balmer series (in nm) is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

486 to 486

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

BISS IS TTHM] i AR 7ae & Ueel T2 H1
Te= 6561 A &1 79 TR g@en F THY
TFHF A TCA am HEM |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

486 to 486

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

195l uR LRl cuHn Sl AL U ue (u2s)
Al ddodend 6561 A &, eudn Swelldl oflsa
oAl cfdeud nm 8.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers::

486 to 486

gcollegeduma





